'.*g’ i é Berdkna procenttal

namn: Datum: Poiing:
60 x 20% = 42 x 80% =
38 x 80% = 2% 10% =
49 x 70% = 86 x 20% =
79 x 30% = 41 x70% =
49 x 30% = 25 x 60% =
3 x50% = 97 x 80% =
31 x70% = 93 x 10% =
88 x 30% = 26 x 20% =
48 x 50% = 46 x 50% =
100 x 90% = 77 % 30% =
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Berdkna procenttal

namn:

60 x 20% = 12

38 x 80% = 30.4

49 x70% = 34.3

79 x 30% = 23.7

49 x 30% = 14.7

3x50%=1.5

31 x70% = 21.7

88 x30% = 26.4

48 x 50% = 24

100 x 90% = 90

Datum:

42 x 80% = 33.6

2x10%=0.2

86 x 20% = 17.2

41 x70% = 28.7

25 x60% = 15

97 x 80% = 77.6

93 x 10% = 9.3

26 x20% = 5.2

46 x 50% = 23

77 % 30% = 23.1
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